
Multiply by Positive Powers of Ten (C)Find each product.
1 × 100 = 16 × 10 =
70 × 10 = 83 × 1,000 =
80 × 1,000 = 34 × 100 =
12 × 10 = 68 × 100 =
41 × 10 = 72 × 1,000 =
92 × 1,000 = 95 × 1,000 =
48 × 10 = 74 × 10 =
96 × 1,000 = 91 × 100 =
40 × 100 = 9 × 10 =
51 × 100 = 66 × 1,000 =
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Multiply by Positive Powers of Ten (C) AnswersFind each product.
1 × 100 = 100 16 × 10 = 160
70 × 10 = 700 83 × 1,000 = 83,000
80 × 1,000 = 80,000 34 × 100 = 3,400
12 × 10 = 120 68 × 100 = 6,800
41 × 10 = 410 72 × 1,000 = 72,000
92 × 1,000 = 92,000 95 × 1,000 = 95,000
48 × 10 = 480 74 × 10 = 740
96 × 1,000 = 96,000 91 × 100 = 9,100
40 × 100 = 4,000 9 × 10 = 90
51 × 100 = 5,100 66 × 1,000 = 66,000
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